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1. % 0~1-4-823—- Bw % > #WFHia £4F 0 * 2B w 8L 1500 - »
1500 -] shw =8t A B2 (A2 (B)3 (O)4 (D)5

<fZ$7>

1048 ~ 1084 ~ 1408 ~ 1480

34 FCo

2. Which one is correct? (A)8990>9009 (B)3416<3146 (C)6484>4648 (D)9999>10000
<fZ$7>

R F iRt

8990>9009(x) ; 3416<3146(x) ; 6484>4648(0)

ECo

3. 1485+4799+2515=2 (A)8799 (B)7689 (C)7799 (D)8789
<fai>
R 74 =1485+2515+4799=4000+4799=8799 > :F A -

4. TBEFTEAF X F 4566 B A Ste 0 £ ALEER F 14 4 o 2R A enfE A E BB
4 7 (A)4580 (B)4552 (C)9118 (D)9146

<fE$7>

4566+14=4580

4580+4566=9146 > i D o

5. #CKBE K 6800 % 0 &L 1608 A 0 Fok Bl ot &85 8 A2 (A)5208
(B)5192 (C)4792 (D)5298

<fE$7>

6800-1608=5192

EBe

6. The value of 8909-4771 closest to is . (A)3000 (B)4000 (C)5000 (D)6000
<fE$7>

8909=9000

4771=5000

9000-5000=4000 > £ B -

7. BB E &S AP 40 A48 0 4 Sk A 47 (A)140 (B)150 (C)160 (D)170
<jais>

40x4=160

& C o

8. Calculating the value of 506%4 is . (A)2023 (B)2024 (C)2025 (D)2026
<fE$7>

506x4=2024

E B
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Taiwan Preliminary (Grade 3)



9.6 24 7% = % 42(A)67 (B)607 (C)670 (D)6070
<fE$7>

6 25 =60 % ¥

60+7=67

EA-

10. Alice used a ruler to draw a 3 cm straight line. Which straight line is the closest?
(A)
(B)
©)
(D) ——

<fZ{7>

iF B

1. £ 13 - & 142X+ Lo L 80k 7T 2 H i d > B g3 454
ko HEBSABELRIA)N9 24 1L EFEK (BR0 A 1 F R (O 24 121 3 (D)98
D4 F K

<fZ$7>

114 £ =11 2 » 4 ¥ X

a2 4800 TEALX20204 1% > EBe

12. T 7B & ehdat o J}_ﬁﬁj»ﬁ )z\_g.%?
Qe Bv L E RS b A o

@F &3 BFe - B4 o

@k 2 BEEARE > gg;fg&@ﬁq—" ] o

(A0 B)I1 (©)2 (D)3

<f#47>

Lend BRI M AT RS M A SR A B B A BERTRPLD ]
ZORACE R A

13. 4o+ W47 > Bcled 74 B 42 (A)4(B)5 (C)6 (D)8 ‘
<fE$7>
3+3+2=8 |
E Do

14, boB#7 £ F a B3 & b B dfoc Bat > B axbie=? (A)6 (B)7 (C)8 (D)9

<jZ{7>
134 1B E 7 Béd
axb+c=1x1+7=8

i#Co
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Taiwan Preliminary (Grade 3)



15, Rt R et =20 £ iE 2 ehl 305 B 482 (A)0 (B)1 (C)2 (D)3

<jE$7>

3k =6 F =2
6x2=12 > 6+2+12=20
W2
2x6=12 > 2+6+12=20
ECo

16. 1A 58 L 120 % 0 o] e 8 F - 1 5 s L AH R L e
R FERL 100~ 2] Ao ] Eeha & FAR AL 50 22 (A)20 (B)100 (C)120 (D)220

<jiz 45>

Bk ) T 300 &

‘] 4 =300-120=180

/] 7£=300-100=200

200-180=20 > & A -

17. FFF &2 BT - Be 28k Fodd ka2 5 10 L =8k Bkl
B3 1 gL g2 R 100 B4 E R e it & B2(A)0(B)(C)2 (D)3

<fE$7>

10=9+1=8+2=7+3=6+4=5+5=4+6=3+7=2+8=1+9

9410 ~ 3172

3 2B FECo

18.1 ¢ 4% FF3 > T AR O6BA > ¢ 5 238% TALT A 5 43585 > 7
% it “ 322 (A)35 (B)37 (C)38 (D)39

<fE$7>

35+6=5....5 (X)

37+6=6....1 (x)

38+6=6....2 (O) > (38+4)+7=6....0(0)

HCo

19. [ X[ =36 %4k &? 2 f#ic® 3 S5:BE 36 F4kH> 1> %k&? 3>
B &% 2 % 5?2 (A)18 (B)36 (C)54 (D)63

<fE$7>

36=1x36=2x18=3x12=4x9=6x6

o 4x9=36 {4 k 6x6=36

R 4x9=36 {3 k 3x12=36 :F B -

20 #fcF 18 ZHP o EFFEART 0 F AT AL
CIXC OO+ X =00
st ERET L5 52 (A)71 (B)68 (C)65 (D)62

<jZ{7>
4x2+8x6+3x5=T71
A
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Taiwan Preliminary (Grade 3)



21, B - F AL 2 BB A ERE T 100 25 PALE 6 £ 40T o 11 Ml e T
130~ » 2R E 1 séedfr I B A BE TS ° 22(A)I2(B)I3(C)14 (D)15

<fE$7>

G E X124+ H A #2x2=100— 44 X6+ A $2=50

b A 6+ H R $2x11=130

130-50=80

80+(11-1)=8

(50-8)+6=7 » 8+7=15> E D -

22, RBCFAHREILI 35791113~ ... ~99 Bfs— B#F T - B HBAT S
i #2 (A)48 (B)49 (C)50 (D)51

<fai7>

99-1=98

98+2=49

49+1=50

FCo

23, F V¥ - Afekii- AMEEHe Q3 1P AEHS2A)EHT B)EY
Or%p DEH-

<f#+7>

B A frkfi- ALY

Tx4+1=29 > weig kP 20 (B #)

RI3» 1pEAHT > FA-

24. Which of the following graphics is different from the others??

(A) (B) © (D)
<fE$7>

W = 5k Rl FRALT A 4 55

Bis-ERBR>HBEA, > FEDo

e A A FQER)
Taiwan Preliminary (Grade 3)



25, % SHAA AV UHEH S AeB 1o F M4HFBF AT UHE SR 2 FEAT - K> £ F
T MHHE A 232 (A)28 (B)29 (C)30 (D)31

R L

(B 1) (Rl 2)

<fZ{7>

B 1: 1+(1+2+1)=5

Bl 2: 1+(1+2+1)+(1+2+3+2+1)=14

B 3: 1+H(1+2+1)+(1+24+3+2+1)+(1+2+3+4+3+2+1)=14+16=30 > ¥ C o

S ERQS AR A R 504 0 R RV EERES)
L SR mesgs: 7 30BEL 25 AB~C = BFAEFAL > BLP enif k3% 7 %5
El SRR SAEVEIR SIS - A Y

(D Af-FAEs I8BEL £ ACTIFIRy 16 B2 o

QA =H4- B fu@t 5725 BEA R A fn-lf]'fr’B EH S R AT 13 o
3% B ?f:%]'frc T E R ﬁ‘,‘/ilfnja O »Ert=- BIEFles F R E‘,L}ijﬁ 8 i o

<ﬁ;’+fr>

L o P 8o ) — 2

9-8=1 '

30-25=5 (3) (5)

16-8-1-5=2

13-8=5

18-5-2-8=3

25-(3+5+8+2+1)=6

¢ 81 A)

Hap o pEe(F 5 4 )

(6)

e A A FQER)
Taiwan Preliminary (Grade 3)
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